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Al 12,730,042 10,743,475 1,986,567

Fatolzs &= 5,262,575 4,343,667 918,908
= 37,620 0 37,620

| 610,988 610,983 0

= 248,364 227,504 20,860

Al 4,365,603 3,805,175 860,428

Y23 XI& 479,399 395,828 83,571
= 62,620 42,900 19,720

Al 416,779 352,928 63,851

Ng2std 23| 241,824 207,548 34,276
307 QI2H0| A 239,824 205,548 34,276
02 QIZHALAIHE X 83,939 71,939 12,000
2d23t, M3BY w2t 7,000 0 7,000
=SS Mot 5,000 0 5,000

03 QIRIHAXHE2EHIE X 135,885 133,609 2,276
2= 2 135,885 133,609 2,276
-BHESR 12| 102,957 100,681 2,276

04 QIZFHAIAIE E X 20,000 0 20,000
2025 GHSEOIEH AL 10,000 0 10,000
20258 AlEGHA 2 10,000 0 10,000
202448 N 23 Ald A8 A 49,29 0 49,29
= 19,720 0 19,720

Al 29,575 0 29,575

402 QI2ERHE01 & 49,295 0 49,295
= 19,720 0 19,720

Al 29,575 0 29,575

02 I T2 AIE EE(0IMTHE) 49,295 0 49,295
223 Jls d3t cl22E 49,295 0 49,295

= 19,720 0 19,720

Al 29,575 0 29,575

s 28X% XA 1,020,629 966,905 53,724
= 85,000 85,000 0

Al 935,629 881,905 53,724

s 22l 219,629 171,905 47,724
307 212t01& 219,629 171,905 47,724
03 QI HE2HHIE X 134,629 126,905 7,724
S=0E 23Xs 24 134,629 126,905 7,724
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2g 2=l tel 10,000 0 10,000
=5 S53 HAEE 30,000 0 30,000
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307 2Izto A 158,000 155,000 3,000
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01 QI A2 AL L R (KA T ) 38,000 35,000 3,000
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= 37,620 0 37,620
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01 Al2telsl 23,880 23,880 0
SYANSI| AL X2 12,000 6,000 6,000
otlls SY2E= WX 4,000 10,000 6,000
308 XXM SOl 9,556 0 9,555
07 MA SRR E= 9,555 0 9,556
4 Zallls WA 9,556 0 9,555
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03 HAL= S Y] 145,000 120,000 25,000
M212l etM23 2 3tH 145,000 0 145,000
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el Bdisis Jlel 2 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
< 0 17,500 A17,500
Al 68,200 68,200 0
Ee BMDSHRY XA 17,500 35,000 217,500
< 0 17,500 A17,500
Al 17,500 17,500 0
308 ARISM SOOI 17,500 35,000 A17,500
= 0 17,500 17,500
Al 17,500 17,500 0
MA-2Z -7 nSHSEIH HEENES 17,500 35,000 A17,500
Y HYU=SHLN 17,500 35,000 17,500
< 0 17,500 A17,500
Al 17,500 17,500 0
w=AHl X 5,391,141 4,848,501 542,640
< 48,300 48,300 0
Al 5,342,841 4,800,201 542,640
WS 5,391,141 4,848,501 542,640
= 48,300 48,300 0
Al 5,342,841 4,800,201 542,640
wEAHX 5,101,041 4,558,401 542,640
308 ARISHMSOIE 5,099,041 4,556,401 542,640
08 WFI|20CHetE = 4,810,640 4,268,000 542,640
STWAIEHE HESAHUEE NEEHE
W= AL) 542,640 0 542,640
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= 36,600 36,600 0
Al 1,197,135 861,081 336,054
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< 36,600 36,600 0
Al 1,197,135 861,081 336,054
GUsisdE=Y 357,756 247,756 110,000
201 2Bt ] 236,000 186,000 50,000
01 AFR2telHl 195,000 145,000 50,000
sty D20y 29 150,000 100,000 50,000
-SMEIIYY & gdus S 60,000 30,000 30,000
-X0Pts 248 g 24 50,000 30,000 20,000
307 2I2+0I1& €0,000 0 60,000
04 QIZESHAAIH B R 60,000 0 60,000
M52 ESAl st E? 60,000 0 €0,000
0 Eolus 29 534,659 401,125 133,534
201 Zet2d] 486,159 352,625 133,534
01 AlR2telHl 475,875 347,625 128,250
HOPts tiSwa 23 ZAH 270,000 168,750 101,250
IHEEEE Solud 29 ZAH 162,000 135,000 27,000
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S 23nEn
Hu: BICNB 2N
SHol: 2SHAIRIS Pst TAR KIS (o @)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
= 2,601 2,601
Al 6,069 6,069
01 AtR22|H| 8.670 8,670
ZOjOl WES HBHHIA L SstEz I
29 12 8,670 0 8,670
= 2,601 0 2,601
Al 6,069 0 6,069
EYCNB 29 214,988 214,983 0
401 AlEHIL 2] 60,000 60,000 0
01 Al 60,000 60,000 0
EZCNT SAYS 48,000 60,000 £12,000
SHCHT SEA ZH) 2,000 0 2,000
TZEHB H27Y 167,000 167,000 0
201 LBr2 | 15,000 0 15,000
01 AtRr2IH| 15,000 0 15,000
IR PS 15,000 0 15,000
405 XHHFSHI 152,000 167,000 15,000
02 SATYLI 152,000 167,000 15,000
TTEHB N2 7Y 128,000 143,000 15,000
“HRKE 0 15,000 15,000
DTEHBOHBAIZAZ A 54,498 52,584 1,914
101 Q1218 52,698 50,784 1,914
03 BRE(PI|H )22 R4 52,698 50,784 1,914
ST HRAF('CHER) 52,698 50,784 1,914
-H242(1352) 2,494 2,441 53
-H242(1152) 2,425 2,375 50
-H242(95E) 1,061 924 137
~HEEIII(135 ) 2,993 2,930 63
~HEEIHI(1152) 2,910 2,850 60
~HEEIII(952) 1,414 1,386 28
-DE2EH| 2,850 2,100 750
-ARIEI 2R 4L (135 2) 5,244 5,106 139
AR 2RLH(1152) 5,115 4,983 132
AR 2RSS E) 2,452 2,387 65
-EUaR4+2(135E) 4,19 4,084 12
~EYUaRL2(115E) 4,002 3,986 106
~522R48(95E) 1,962 1,910 7
~oiJLBAHI (135 2) 1,749 1,702 47
~oIL B A (115 2) 1,706 1,661 45
~oIDL 2 A1 (95 ) 1,635 1,560 75
DR CARHRAIIGFAIS (2 X) 81,360 81,360
2 40,681 40,681
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SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
Al 40,679 40,679 0
101 14 70,025 70,025 0
2 3,013 3,013 0
Al 3,012 3,012 0
03 R (RIIH)2ENE2S 58,231 70,025 AT1,7%
JHBE AIRE 1F o1l 58,231 70,005 AT1,7%4
2 29,116 3,013 75,807
Al 29,115 3,012 75,807
04 JIRIH2E2XS 24 1,794 0 1,794
N2 AIRE 1F o1l 1,794 0 11,79
2 5.807 0 5,807
Al 5,807 0 5,807
ZechE 2% 245 256,575 231,575 25,000
= 21,680 9,180 12,500
Al 234,89 222,3% 12,500
HechR 29 NR(2X) 55,600 30,600 25,000
= 21,680 9,180 12,500
Al 33,920 21,420 12,500
402 QIZEXHZO0IH 25,000 0 25,000
= 12,500 0 12,500
Al 12,500 0 12,500
02 BIRIXF= AT B E(OIF TS ) 25,000 0 25,000
RSCHB BN KA 25,000 0 25,000
= 12,500 0 12,500
Al 12,500 0 12,500
YHEAAH (23D 65.2% 48,680 16,615
Jl= 2| 65.,2% 48,680 16,615
o= 65,29 48,680 16,615
201 2Bt | 31,500 24,500 7,000
01 AtRr2IH] 25,500 22,500 3,000
Nk 25,500 22,500 3,000
2 BB 6,000 2,000 4,000
zZ2o| 6,000 2,000 4,000
202 01| 9,000 15,000 4,000
01 201t 9,000 15,000 4,000
201l 9,000 15,000 4,000
203 R EZIH| 11,930 6.180 5,750
NBEEEEEESST 5,750 0 5,750
JlegYyRETY| 2,750 0 2,750
NBFRHP2ETH| 3,000 0 3,000
405 Ttz S| 2,865 3,000 A135
01 Rt L2 Z 5 S| 2,865 3,000 A135
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M WEHSAAH|(23DI)
Chel: J1=2 &l EER=E)
SA - B SA(3) - MRAY - BES O &0 p/IE- - HimE=ET
[ [ == 2,865 3,000 A13
Wgs 176,347 0 176,347
SENE 176,347 0 176,347
2| prea 176,347 0 176,347
802 BHet 2|} 176,347 0 176,347
EREESTEES 162, 182 0 162, 182
2 PHAREAR AR A 160,098 0 160,098
20014 ME2SIME T4 2,089 0 2,089
2 Al - EHIREESEeS 14,165 0 14,16
088 HSCAR HEPY ¥ T2 X
Ared 4 0 4
A8 WRHE LRI SHNA A 3 0 3
0285 HASE HHADSE N Ared 3% 0 3%
2028 EDWA QIEY $AR NE A 5,516 0 5,516
2288 EHPHEARANE 2 1,118 0 1,118
a2 Ngeste 25 U eSS
w284 860 0 860
22 2E PSUE Al 5 0 5
02 FOURAE MB35 AL 3,429 0 3,429
2023 X A2 HHE0H XA 2,500 0 2,500
BE BMDS SH3 T2 29 XY
Ared 3 0 3
223 SLHU=DEATD NS ALY 334 334




